


carries 1 score.

Question 1 to 8 Answer all questions. Each

(8x1=8)

Rent paid Rs. 4500 was posted to rent
accounts as Rs. 3400 which is the error

occurred here

a)  Error of Principle

b)  Error of Commission
¢)  Compensating Error

d)  Error of Omission

The Proprietor of & furniture shop took
a dinning table from his shop for his
homely use. In which account this

transaction is recorded?
a)  Drawings

b)  Purchases

¢} Sales

d)  Expenses
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A document which provides evidence of

the transactions is known as
a)  Debit

b) Credit

¢} Source document

d) stock

A business purchased a patent for
Rs. 5.{)(-}.,000 for manufacturing their
products. They decided to write off
Rs. 50,000 every year from patient. This

is an example of
a)  Depreciation
b)  Amortisation
¢} Depletion

d) Obsolescence.

nsaloslameeyolal a@elal meld)ym
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“Profits should not be recorded until
realised, but provision should be given
for all possible losses™ ldentify the
accounting principle related to this

statement.

a) Consistency concept
b)  Dually concept

¢) Conservatism concept

d)  Cost concept

Abill of exchange is ....oceeevveevicinnns
a) A conditional order

b). An uncondilionallorder

) A conditional undertaking

d)  Anunconditional undertaking

BIoE@o oo en 0806 a5
QD (MEMD @ B D ene] @l
EOEUORISITH YW IR nlEom,
MIWBOW oD  Maemdenio
QUMD HOIEEOME®IET. O
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Which of the following is correct in case
of prepaid insurance, while preparing the

final accounts?

a) Crc-;liilcd to Profit and loss account
b) Shownon Ii_abilitics side

c) Debited to profit and loss account

d)  Addedtocapital account

Purchase of fixed asset is an example for
a)  Revenue Payments

b) Rcvcnu;: Receipts

c)  Capital Receipts

d) Capital Payments
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Questions 9 to 13 Answer any four

Questions. Each question carries 2 scores.

9.

(4x2=8)

Classify the following m to internal and

external users of accounting
information. Investors, store manager,

tax authorities, Vice President.

Following is a Trial balance for the year
ended 31st March 2017, Correct it if

there is any mistake

9 mmmd 13 uenwiss ealosyeBgld

agemeleo 4 ag)spardlal’ ETHamPIM ).

2 mieeod aflmo

9.

10.

(4x2=8)

MIOEOSHISIOMOUNW BRI o
OIERaINS BREYTO D IEEIHMOC,
U0, BalEEIMMmI afim @oo

wala6) o,

eesaiand, eqod.asemed, mlawl

anuiléonladd, eanm’ trtnslowaf

2017 @moda 31 o swe
sruoeadaoe '
mamepmcae}asgmmﬂﬂm‘;rmﬁ
aermEslaile HmEeEnEElT

[l Ty P e=

Trial Balance as on 3 1st March 2017

Account Title LF Debit (Rs.) Credit (Rs.) .
Capital ' 40000
Machinerv 8500
Debtors 10000
Sales 35000
Cash 21500
Wages 2500
Depreciation 1500
Purchases 31000

Total 67000 82000
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11.

12.

15.

Match column A with Column B.

I1.

2080 af) @Wio G080 i@ imow]
@nlinjonls] GolBdejd.

A

B

Asset=Capital +liabilities

Verifiable documents

Cost concept

Accounting Policies and
Procedures are not changed

Consistency concept

]: Dual Aspect concept

Objectivity concept

!
! Purchase Price

Write the closing entries for the
following at the time of preparing

financial statements
a)  Salaries during the year Rs. 15,000

b) Commission received during the

vear Rs. 4000

“Cash book is both a journal and ledger™

Explain

12.

13,

o0 o @vel e oleq|odgyemd

MPOOIHHYBIUID, wmoee
eH0S O UL &6 @M LEWORnow
@osead  emdema  ag@dsled
)P 4T Y. |

af)) B0} UlcHsEn WrUge 15000 @i

enll) amy udatio AIE ] dadilaxind 4000

fDénJ,
dh )0t ElEE  Ben Moo 0]
ezdemeljo BIOLERO A6
[o¥[[7: e Fel B=Ia) =S
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Questions 14 to 18 Answer any 4 questions.

Each question carries 3 score. (4%3=12)

What are the objectives of preparin o Trial
balance.
Distinguish between Revenue and capital

rescrve.

. Compute the cost of goods sold for the

year 2017

Sales Rs. 20000
Purchases Rs. 15000
Wages Rs. 1000
Stock (Opening) Rs. 3000
Stock (Closing) Rs. 4000
Freight inward Rs. 1000

14 oo 18 en agemaleljo
4 8206)MBRGE  HEMEOAYI® 0.
3 miesod afime. (4x3=12)

14,

swad sruoeindm’ DGOSR Malead
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21T

F
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LGB ). 15000
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URaxormy egyods my 4000

aslog mmeuday’ o 1000
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17. The proprietor of a grocery shop
purchase 200 kg of rice @Rs. 50 per kg
He record the transaction as Rs, 10,000

in the firms book.

17. &y nlelaines &:s msmmim
CUjoalo@ 200 &xlea @odl 50 mlal
alleiiss uosElol). MUOowIMTHaT

EHEMBE 61L3B60 M, 10,000 OLalgoeny

07 NSalds
a)  Identifv the principle for recording e L P
that transaction.
ag)) €09 0Salds
bl  Explainit.
ereUen S mTlemmow

18. Complete the journals given below

SUMLER]S EATTEDMOET ?
enll) g0 @emjo cllvndlealeniss.

18. moaw ﬂcéaasgmwﬂtdiménn

sgedemeljdnd® ol damlaase @,

JOURNAL
Date Particulars LF | Debit (Rs.) | Credit (Rs.)
ol 20D b RN PR Alc Dr. 25000 |
Jan 1 To Ganesh Af¢ (Purchased 25000
goods from Ganesh)
b |Jan 10 Drawings Alc ...............Dr. ' 2000
To purchase Alc 2000
¢ |Jan20 Rent Afc Dr. 4000
ToT -2 4000
Rent paid by cheque)
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Questions 22 & 23 Answer all questions.
Each question carries 5 score. (2x5=10)
22, Prepare Sumesh Afc from the following

transactions.

2017 Febl Sold goods to sumesh

Rs, 15,000

Feb6 Purchased goods from Suresh

Rs. 24000
Feb 15 Paid cash to sumesh Rs. 20,000

Feb 24 Received cash from suresh

Rs. 13,000

23, Rectify the following errors

a) Purchase day book undercast by

Rs. 1000

b) Repairs on Machinery Rs. 2500

debited to machinery account.

22 )@@ 23 WOD oo BaI06ER@dEn0

DOTHOODP)® 1. 5 Mies0d
aflme (2%5=10)
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e
L

On April 4, 2017 Pramod sold goods for
Rs. 60,000 to Manoj and drew a bill for
the same amount pavable after 4 months.
The bill was accepted by manoj. Pramod
discounted the bill with his bank for

Rs. 59000 on 30th April 2017.

‘The bill was dishonoured on Maturity
date. Manoj agreed to pay Rs. 20500 in
cash including Rs. 500 interest and
accept 4 new bill for 3 months for the
remaining Rs. 40,000, The new bill was
endorsed in favour of his creditor Ajith

for settling a debt. New bill was duly met.

Pass journal entries in the books of

pramod.

ko
L

2017 aglali@ 4 my |nlemod 60,000

PSS  MoWme  @emoElmy
AlB 66 HW)o (IR @i ¢ QdMo
soanawloygs sy eflad &dad
S Bl @QOOIER ST Lo
aoim®my. oemom enfldd mflesalal).
pucand ap el mwoges ol
52000 myal@ 2017 agladl@d 30-00
dlowal  wlesves eaioimy.
@ ozomwl dlewove - endlad
AEMEIOTHMO HH0NE ASHE AWa].
2aMoE 500 0jal atefltd pidqes 20500
@ynt assmaow] melsyaiomie snidss
e M 40,000 ojolgl &) aljolo
milmd 3 morrﬁ B0 Wls@os dh s
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alyele i@ |(alemod EWIRLIesS
HSENI DM O v eg] @wlmy
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dloumie @MEmMIgE aléMe @RSELOMY.
ileaosladg eniyealc @pnliujoow '

ERAVENEIZBHD af)PLm .
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Question 26-Answer the questions which

carries 8 Scores. (1x8=8)

26. From the balances extracted from the
books of Mayuri Ltd. prepare Trading and
profitand loss account for the year ended
315 December 2017 and a Balance sheet

is on that date.

a2108)0 26 M) HOMOODY M. B
m'edsod (1x8=8)
26. owyal . elalgalen  enysed
mimieas omlalee ym
BREVENELEHSBINS EUIRITHIIIEM Mmoay
81805 Jamlalen . 2017 auflmuosnd
31 my @ecumamleniom oldadaam
BIDE Mal &eMEnie @ Slolauem
eroerdmiadlglo MEIOIEeH.

Trial balance as on 31" December 2017

Account title Debit (Rs.) Credit (Rs.)
Sundry Debtors 10,000
Sundry creditors £.000
Purchases 38.000
Sales 54000
Purchase Return 2000
Sales Return 1000
Salaries 6000
Rent 4000
| Opening stock 15000
Printing & Stationery 2000
Building 40000
Capital 52000
1,16,000 1,16,000
Additional information: b afl o

a) Closing stock Rs. 25.000
b} Salaries outstanding Rs. 3,000

¢) Depreciate machinery by 10%.

ag)) ulaMoomy eguoes’ @) 25000
enll) corugan Sl 4. 3000

ml) eandlmolesn” 10% emomaimo
MDD .
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